Quiz [T General Chemistry I Lecture Fall 12 Dr.Hahn 20pts 10/27T 8:30 am A quz#

Please show all Wi

1. To calculate mass percent of oxygen in water, the formula is (4 pts, 2 pts top and 2 pts bottom)
mass % = ({a) 16.08 (b)2x16.0g (¢) 2x1.01g (d){(2x1.01)+16.0] g (circle one letter)
oxygen x 100

(a)16.0g (b)2x16.0g (¢) 2x1.0lg Y2x1.01)+ 16.0Ta(circle one letter)

2. The definition of molarity (M) is (4 pts, 2 pts top, 2 pts bottom)

# _maley ofsolute + moles ‘SG/M,&

mOIaﬁtY(M) = . OV\ " —
#/iteys  ofsolution /OQO "~ 9@((.17{90)\

Please fill in the blank to complete the definition.

3. Forthe followmg reaction complete the batancing of the equation by filling in a number into each of

blanks for the missing coefficients. Note to balance cheml@mamowhmg&eeefﬁef?&mj
you leave the subscripts alone. (6 pts, 3 pts each blank % | & Mu [ .(;\ ¢ o @!, ank

2 CO2(g) + CaSIO3 (s) + H,O0() 2> SlOg (s) + [  Ca(HCO;), (aq)

4. For the following baianced chemical reaction, if you start the reaction with 69. 3 grams of Na;S_how
many grams of NalNQ; would you get? (FW Na,S =78.0 g/mol; FW NaNO; = 85.0 g/ mol) (6 pts,
show work).

Nas$ (ag) + Cu(N ;\W > 2NaN03 (aq)+ CuS (s)
Q‘? )& g 5 A/a/{/D}

Extra Credit ( 2 pts) If you have 35.4 mL of a 4.5 M solution of NaCl , how many grams of NaCl (give, .L
the formula weight shown: FW NaCl = 58.5 Wa bave in the solutmn ? (show work)

45




Quiz Il General Chemistry I Lecture Fall 12 Dr.Hahn 20pts 102T 8:30 amB quiz#

Name f ' ] Name

(print name) 4 4 = no  {si €)

Please show all work for full credit. j?
dveg

1. To calculate mass percent of ox{gen in water, the formula is (4 pts, 2 pts top and 2 pts bottom)

mass% = (a)16.0g (B)2x160g (¢) 2x1.01 gﬂ" (d) [(2 x 1.01) + 16.0 ] g (circle one letter)
hydrogen e x 100
(a)160g (b)2x16.0g (c) 2x1.01g @(2 x 1.01) + 16.0 ] g (circle one letter)

2. The definition of molarity (M) is (4 pts, 2 pts top, 2 pts bottom)

# mt?{e,s of solute :# fm@/?ﬁ $0}u’£€
molarity (M) =

# [ [fe ofsolution /o@o nﬁ sof wfttom

Please fill in the blank to complete the definition.

3. For the following reaction complete the balancing of the equation by filling in a number into each of
blanks for the missing coefficients. Note to balance chemical reactions, you change coefficients but

vou leave the subscripts alone. (6 pts, 3 pts each bl . .
Ol 1§ MU/ﬁt}a& of !:/m\ b
_ Cw0@© + C© F D Culs) + CO(g) —~

2Ca, 49 1¢C 20, 2, 40

4. For the following balinced chemical reaction, if you start the reaction with 35.2 grams of HCl , how
many grams of Hp8 would you get?(FW HC1 =36.51 g/mol, FW H,S = 34.02 g/mol (6 pts_ﬁ'ow
work) _—

-

FeS (s) + 2 HCl (aq)—> FeClz( 25 (g
25,1001 LAAU J;%;‘L g

@

Extra Credit ( 2 pts) Ifyouhave 4.5mL ofa 2.5 M solution of KBr , how many grams of KBr (given
the formula weight shown: FW KBr #119.0 g/mol ) do you have in the solutlon ? (show work)

4.5 2.9 {}” 119.04 K6 "9@/(

%wf'b %‘?%L;@ W@




QuizIlI General Chemistry I Lecture Fall 12 Dr.Hahn 20pts 102T 9:55am A quiz#

Name k VL./" Name
(print name() 3

Please show all work Tor full credit.

1. To calculate mass percent of oxygen in NO,, the formula is (4 pts, 2 pts top and 2 pts bottom)

mass % = (a)160g.2x160g (©) 140g (d)[14.0+ (2 x 16.0) ] g (circle one letter)

oxygen x 100
(@a160g (b)2x16.0g (c) 140g (d) 14.0+ (2 x 16.0) ] g (circle one letter)

2. The definition of molarity (M) is (4 pts, 2 pts top, 2 pts bottom)

# W\(ﬂ! €5 of solute 'f:ﬂ:m(g/ej 3”0/&"??(’_
molarity (M) = — Or 77 —

# [ 1 bey  of solution (/ 0oo ML S b lwction

Please fill in the blank to complete the definition.

3. For the following reaction complete the balancing of the equation by filling in a number into each of
blanks for the missing coefficients. Note to balance chemical reactions, you change coefficients but

you leave the subscripts alone. (6 pts, 3 pts each blank) O L | p m U ( fJ p le © 1L
1 _ = NayS(ag) + Cu(NO;); (aq) 72~ NaNO; (aq) + CuS (s) | onk
205,45, AL, 20§ g Ny 2 N, 60 A0 1S

4. For the following balanced chemical reaction, if you start the reaction with 402.3 grams of CO; ,
how many grams of H,O () will you use up? (FW CO, = 44. 0 g/mol, FW H,0 = 18.02) (6 pts,
show work)

&

ey

2C0z2(g)+ CaSiO; (s) +-Ha0(l) > Si0, (s) + Ca(HCOs) (aq)

1,3 y}m im@é/ﬁéﬂa\s < Pozg/hc’ 2.5%
40 - :
C o 1000 " 2mpe<0 " 1 peflh, Ho

@@

Extra Credit ( 2 pts) If you have 170.2 mI, ofa 1.7 M solution of NaNO; , how many grams of NaNQ;
{given the formula weight shown: F W NaNO3 = 85.0 g/mol ) do you have in the solution ? (show work)

(70,2, - avﬁ; S X?O@MW; Zé‘o

”@” r 5 i

)

PN AL



Quiz [l General Chemistry ] Lecture Fall 12 Dr.Hahn 20pts 10/22T 9:55 am B quiz #

Name _ Name
(print name) ign name)

Please show all work for full credit.
1. To calculate mass percent of nitrogen in NOy, the formula is (4 pts, 2 pts top and 2 pts bottom)
mass% = (a)16.0g (b)2x16.0¢g @ 14.0g (d) [14.0 + (2 x 16.0)] g (circle one letter)

nitrogen x 100
(a)16.0g (b)2x16.0g (c) 14.0¢g (d) 14.0 + (2 x 16.0) ] g {circle one letter)

2. The definition of molarity (M) is (4 pts, 2 pts top, 2 pts bottom)

‘ # km'ﬂ?ﬁ of solute :;!2 /‘Y\@ /6’5 b/ G,Aéﬁ
molarity &) = # { 2 égﬁ of solution Ov / 5 (93,,-\@ Se / W/’ 7 »-

Please fill in the blank to complete the definition.

3. For the following reaction complete the balancing of the equation by filling in 2 number into each of
bianks for the missing coefficients. Note to balance chemical reactions, you change coefficients but

you leave the subscripts alone. (6 pts, 3 pts each blank Ot— ' c‘ i ! ﬁ Flé 9{‘, _JDMT(M@
FeS(s)+ __Z- HCl(ag) L FeCl; (aq) + HaS (g)
Fe, 5, 28 200 ¢ 4 Fe.28L, 2l 4§

4. For the following balanced chemical reaction, if the reaction gives 16.5 grams of Cu(s), how many
grams of CO (g) will you form ? (FW Cu =63.55 g/mol, FW CO = 28.0 g/mol ) (6 pts, show

(03 5‘5 z»/m(a\ :LM@ QO

%

Extra Credit (2 pts) Ifyouhave 252 mL ofa 3.2 M solution of NH4F , how many grams of NH,F
{given the formula weight shown F W"M}M g/mol ) do you have in the solution ? (show work)

2106 2 VUl 5 g




Quiz Il General Chemistry I Lecture Fall 12 Dr. Hahn 20pts 10/2T 8:30 am A quiz# ( ““&)

Name Name
(print name) (sign name)

Please show all work for fuil credit.
1. To calculate mass percent of oxygen in water, the formula is (4 pts, 2 pts top and 2 pts bottom)
mass% = (a)16.0g (b)2x16.0g (¢) 2x1.01g (d)[(2x1.01)+16.0] g (circle one letter)

oxygen x 100
(@) 160g (B)2x160g () 2x1.01g (d)[(2x1.01)+16.0] g (circle one letter)

2. The definition of molarity (M) is (4 pts, 2 pts top, 2 pts bottom)

# of solute

molarity (M) =
# of solution

Please fill in the blank to complete the definition.

3. TFor the following reaction complete the balancing of the equation by filling in a number into ¢ach of
blanks for the missing coefficients. Note to balance chemical reactions, you change cocfficients but
you leave the subscripts alone. (6 pts, 3 pts each blank)

CO,(2)+ CaSiO;(s) + O D) > Si0:(s) + Ca(HCOs); (aq)

4. Tor the following balanced chemical reaction, if you start the reaction with 69.3 grams of Na;S how
many grams of NaNO; would you get? (FW Nap$S =78.0 g/mol; FW NaNO; =85.0 g/ mol) (6 pts,
show work)

Na,S {aq) + Cu(NO3), (aq) = 2NaNO; (aq) + CuS (s)

Extra Credit (2 pts) If you have 35.4 mL of a 4.5 M solution of NaCl , how many grams of NaCl (given
the formula weight shown: FW NaCl = 58.5 g/mol ) do you have in the solution ? (show work)



’ Quiz T General Chemish‘y'I Lecturé Fall 127 Dr.Hahn 20pts 10/2T 8:30 amB quiz # l "‘?

(print name) _ (sigh name)

Please show all work for full credit.
1. To calculate-mass peréent of o?g;gen in water, the formula is (4 pts, 2 pts top and 2 pts botiom)
mass % = (2)16.0g (b)2x16.0g (¢} 2x1.01g (d)[(2x1.01)+ 16.0 ] g (citcle one letter)

hydrogen x 100
(@160g b)2x160g (c) 2x1.0lg (d)[(2x1.01)+16.0]g (circle one letter)

2. The.déﬁnition of molarity (M) is (4 pts, 2 pts top, 2 pts bottom)

# _ --of solute

molarity M) = :
# _ _of solution

. Please fill in the blank to complete the definition.

3. For the following reaction .complete the balancing of the equation by ﬁlling in a number into each of
blanks for the missing coefficients. Note to balance chemical reactions, you change coefficients but
you leave the subscripts alone. (6 pts, 3 pts each blank) '

 Cw0@® + 0> Cu) + CO(e

4. For the following balanced chemical reaction, if you start the reaction with 35.2 grams of HCl , how
many grams of H>S would you get?(FW HCI = 36.51 g/mol, FW H38 = 34.02 g/mol (6 pts, show

work)

FeS (s) + 2 HCL (ag) -> FeCly (aq) + Ha$ (g)

Extra Credit ( 2 pts) If you have 4.5mL ofa 2.5 M solution of KBr , how many grams of KBr (given

the formula weight shown: FW KBr = 119.0 g/mol ) do you have in the solution ? (show work) .



Quiz I General Chemistry I Lecture Fall 12 Dr.Hahn 20pts 102T 9:55am A quiz # 4:3’

Name Name
(print name sign name;
p

Please show all work for full credit.
1. To calculate mass percent of nitrpgen in NO, the formula is (4 pts, 2 pts top and 2 pts bottom)
mass% = (a)16.0g (b)2x160g (c) 14.0g (d)[14.0+(2x16.0)] g (circle one letter)

oxygen x 100
(@)160g (b)2x16.0g (c) 140g (d)[14.0+(2x16.0)] g (circle one letter)

2. The definition of molarity (M) is (4 pts, 2 pts top, 2 pts bottom)

# of solute

molarity (M) =
# of solution

Please fill in the blank to complete the definition.

3. For the following reaction complete the balancing of the equation by filling in a number into each of
blanks for the missing coefficients. Note to balance chemical reactions, you change coefficients but
you leave the subscripts alone. (6 pts, 3 pts each blank)

NapS (aq) + Cu(NOs) (aq) = NaNO; (agq) + CuS (s)

4. Tor the following balanced chemical reaction, if you start the reaction with 402.3 grams of CO; ,
how many grams of H,O (I} will you use up? (FW CO, = 44.0 g/mol, FW 1,0 = 18.02) (6 pts,
show work)

200, (g)+ CaSiOs(s) + IO (1) > Si0;(s) + Ca(fICOs); (aq)

Extra Credit ( 2 pts) If you have 170.2 mI. of a 1.7 M solution of NaNOj; , how many grams of NaNO;
(given the formula weight shown: FW NaNO; = 85.0 g/mol ) do you have in the solution ? (show work)



RS

Quiz [l General Chemistry I Lecture Fali 12 Dr.Hahn 20pts' 10/2T 9:55 amB quiz #'l‘ ""”

Name . . _ ' ~ Name

(rinthame) . (sien name)

Please show all work for full .credit. _ |

| 1. To calculate mass percent of ﬁjﬁogen in NO,, the fonqula is (4 pts, 2 ptls top and 2 pts bot_to_m)
mass% = (a)16.0g (b)2x16.0g (¢) 14.0g (d)[14.0+(2x16.0)] g (circle one letter).

nitrogen - x 100
(a)16.0g (b)2x160g (c) . 140g (D[140+(2x 16.0) ] g (circle one letter)

2. The definition of moiarity (M) is (4 pts, 2 pts top, 2 pts bottom)

# df solute

molarity (M) = — :
# of solution

Please fill in the blank to complete the definition.

3. For the following reaction complete the balancing of the equation by filling in a number into each of
blanks for the missing coefficients. Note to balance c‘;emical reactions, you change coefficients but
you leave the subseripts alone. (6 pts, 3 pts each blank) '

FeS(s)+___ HCl(ag)> __ FeCl(aq)+ HaS (g)

-4, Forthe following balanced chernical reaction, if the reaction gives 16.5 grams of Cu(s), how many -

grams of CO (g) will youform ? (FW Cu = 63.55 gfmol, FW CO = 28.0 g/mol ) (6 pts, show
work) CwO<(s) + C(s) 2 2Cu(s) + CO(g)

Eictra.Credit (2pts) Ifyou hav’é 252ml ofa 3.2 M solution of NHsF , how many grams of NH4F }
(given the formula weight shown: FW NH4F = 37.04 g/mol ) do you have in the solution ? (show work)

A

b
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